
PHYSICS

BOOKS - SURA PHYSICS (TAMIL

ENGLISH)

ELECTRICITY

Textbook Evaluation Choose The Correct Answer

1. Which of the following is correct ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PM03xzxvUqCU


Textbook Evaluation

A. Rate of change of charge is electrical

power

B. Rate of change of charge is current

C. Rate of change of energy is current.

D. Rate of change of current is charge.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PM03xzxvUqCU
https://dl.doubtnut.com/l/_ld3M85BSKY6p


1. SI unit of resistance is

A. mho

B. joule

C. ohm

D. ohm meter

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ld3M85BSKY6p


2. In a simple circuit, why does the bulb glow

when you close the switch ?

A. The switch produces electricity

B. Closing the switch completes the circuit

C. Closing the switch breaks the circuit

D. The bulb is getting charged

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xkTfBeTkstyc
https://dl.doubtnut.com/l/_mAsCQyeI8bFg


3. Kilowatt hour is the unit of

A. resistivity

B. conductivity

C. electrical energy

D. electrical power

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mAsCQyeI8bFg


4. The ratio of the potential difference to the

current is known as __________.

Watch Video Solution

5. The wiring in a house consists of ________

circuit.

Watch Video Solution

https://dl.doubtnut.com/l/_Aof5Ed261EW6
https://dl.doubtnut.com/l/_qqWOXxIFXUHa


6. The power of an electric device is a product

of __________ and ___________.

Watch Video Solution

7. LED stands for__________.

Watch Video Solution

8. MCB is used to protect house hold electrical

appliances.

https://dl.doubtnut.com/l/_pyDItrkrdDA4
https://dl.doubtnut.com/l/_XG6QjULjP5BE
https://dl.doubtnut.com/l/_N7YitcelM9lQ


Watch Video Solution

9. Define th SI unit of electric current. (or)

What is one second in SI system of units? (or)

Define one ampere (S.I standard for current)

Watch Video Solution

10. One unit of electrical energy consumed is

equal to 1000 kilowatt hour.

Watch Video Solution

https://dl.doubtnut.com/l/_N7YitcelM9lQ
https://dl.doubtnut.com/l/_deOcdWBqvLJZ
https://dl.doubtnut.com/l/_lUvXJfA13Co1


11. The effective resistance of three resistors

connected in series is lesser than the lowest of

the individual resistances.

Watch Video Solution

12. Assertion: In a simple battery circuit the

point of highest potential is positive terminal

of the battery. 

Reason: The current flows towars the point of

the highest potential.

https://dl.doubtnut.com/l/_lUvXJfA13Co1
https://dl.doubtnut.com/l/_niGLQfEeSGxs
https://dl.doubtnut.com/l/_Tce1TJmxBrf4


A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

https://dl.doubtnut.com/l/_Tce1TJmxBrf4


Answer:

Watch Video Solution

13. Assertion: LED bulbs are far better than

incandescent bulbs. 

Reason: LED bulbs consume less power than

indanescent bulbs.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

https://dl.doubtnut.com/l/_Tce1TJmxBrf4
https://dl.doubtnut.com/l/_teN5RzZfWirb


B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_teN5RzZfWirb
https://dl.doubtnut.com/l/_jlWGlnwbeyHw


14. What happens to the resistance, as the

conductor is made thicker ?

Watch Video Solution

15. Why is tungsten metal used in bulbs, but

not in fuse wires ?

Watch Video Solution

https://dl.doubtnut.com/l/_jlWGlnwbeyHw
https://dl.doubtnut.com/l/_uZhgr2RAi83S


16. Name any two devices, which are working

on the heating effect of the electric current .

Watch Video Solution

17. What is the role of the earth wire in

domestic circuits ?

Watch Video Solution

18. State Ohm's law .

https://dl.doubtnut.com/l/_ahAcPDBBuwNy
https://dl.doubtnut.com/l/_9Bza109S0uAu
https://dl.doubtnut.com/l/_gCp17pLHlFk1


Watch Video Solution

19. Distinguish between the resistivity and

conductivity of a conductor .

Watch Video Solution

20. What connection is used in domestic

appliances and why ?

Watch Video Solution

https://dl.doubtnut.com/l/_gCp17pLHlFk1
https://dl.doubtnut.com/l/_0pYvhbl8f6ex
https://dl.doubtnut.com/l/_tvADkF1ZPWmh
https://dl.doubtnut.com/l/_GXEAtdfNviIy


21. What is meant by electric current ?

Watch Video Solution

22. Define the unit of current.

Watch Video Solution

23. The device used to measure electric

current is ___________.

Watch Video Solution

https://dl.doubtnut.com/l/_GXEAtdfNviIy
https://dl.doubtnut.com/l/_L6Xl0kDFjllt
https://dl.doubtnut.com/l/_tVL7MTJfqBQv


24. Joule law of heating is ___________.

Watch Video Solution

25. An alloy of nickel and chromium is used as

the heating element . Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_tVL7MTJfqBQv
https://dl.doubtnut.com/l/_kdt5kJcoObSh
https://dl.doubtnut.com/l/_PCP6ojzkh3ln


26. How does a fuse wire protect electrical

appliances ?

Watch Video Solution

27. Explain about domestic electric circuits.

(circuit diagram not required)

Watch Video Solution

https://dl.doubtnut.com/l/_IirVzak14YqJ
https://dl.doubtnut.com/l/_BvzYZzvjtc1I


Textbook Evaluation Fill In The Blanks

28. What are the advantages of LED TV over

the normal TV ?

Watch Video Solution

29. List the marits of LED bulbs.

Watch Video Solution

https://dl.doubtnut.com/l/_rM5k4R0f2nyn
https://dl.doubtnut.com/l/_nXNhsAQvQlLT


Textbook Evaluation State Whether The

Following Statements Are True Or False If False

Correct The Statement

1. When a circuit is open, ________ cannot pass

through it.

Watch Video Solution

1. Ohm's law states the relationship between

power and voltage.

Watch Video Solution

https://dl.doubtnut.com/l/_JCX52SAPRwNK
https://dl.doubtnut.com/l/_9LtqtoSoRgHL


Textbook Evaluation Match The Items In Column I

To The Items In Column Ii

Textbook Evaluation Assertion And Reason

1. 

View Text Solution

https://dl.doubtnut.com/l/_9LtqtoSoRgHL
https://dl.doubtnut.com/l/_apLYLJieI3HN


1. Assertion: Electric appliances with a metallic

body have three wire connections. 

Reason: Three pin connections reduce heating

of the connecting wires.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

https://dl.doubtnut.com/l/_AQ3eQZXuvKXT


Textbook Evaluation Very Short Answer

Questions

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AQ3eQZXuvKXT


Textbook Evaluation Short Answer Questions

1. Define the unit of current.

Watch Video Solution

1. Define electric potential and potential

difference.

Watch Video Solution

https://dl.doubtnut.com/l/_qEqC9zXMBkIZ
https://dl.doubtnut.com/l/_PWvdsT9kVC3g


Textbook Evaluation Long Answer Questions

Textbook Evaluation Numerical Problems

1. With the help of a circuit diagram derive the

formula for the resultant resistance of three

resistances connected:a) in series and b) in

parallel.

View Text Solution

https://dl.doubtnut.com/l/_nSfHL6KJENnQ


1. An electric iron consumes energy at the rate

of 420 W when heating is at the maximum

rate and 180 W when heating is at the

minimum rate. The applied voltage is 220V.

What is the current in each case.

Watch Video Solution

2. A 100 watt bulb is used for 5 hours daily and

four 60 watt bulbs are used for 5 hours daily.

https://dl.doubtnut.com/l/_fsY7vjqQjRTI
https://dl.doubtnut.com/l/_n5LaFq3ZueMC


Calculate the energy consumed (in kWh) in the

month of January.

Watch Video Solution

3. A tourch bulb is rated at 3 V and 600 mA.

Calculate 

a) Power 

b) Resistance 

c) Energy consumed if it is used for 4 hour.

Watch Video Solution

https://dl.doubtnut.com/l/_n5LaFq3ZueMC
https://dl.doubtnut.com/l/_7LMOjAWLUJGB
https://dl.doubtnut.com/l/_Ntzc5JKrDlew


4. A piece of wire having a resistance R is cut

into five equal parts. 

a) How will the resistance of each part of the

wire change compared with the original

resistance ? 

b) If the five parts of the wire are placed in

parallel, how will the resistance of the

combination change ? 

c) What will be the ratio of the effective

resistance in series connection to that of the

parallel connection ?

Watch Video Solution

https://dl.doubtnut.com/l/_Ntzc5JKrDlew


Textbook Evaluation Hots

1. Two resistors when connected in parallel

give the resultant of 2 ohm, but when

connected in series the effective resistance

becomes 9 ohm ? Calculate the value of each

resistance.

Watch Video Solution

https://dl.doubtnut.com/l/_Ntzc5JKrDlew
https://dl.doubtnut.com/l/_WD28XMmzgvXQ


2. How many electrons are passing per second

in a circuit in which there is a current of 5 A ?

Watch Video Solution

3. A piece of wire of resistance 10 ohm is

drawn out so that its length is increased to

three times its original length. Calculate the

new resistance.

Watch Video Solution

https://dl.doubtnut.com/l/_aIdGg2FWa0ok
https://dl.doubtnut.com/l/_da66DAiH6A0n


Government Exam Questions Answers

1. Calculate the resistance of a conductor

through which a current of 2A passes, when

the potential difference between its ends is

30V.

Watch Video Solution

2. A charge of 10 coulomb flows through a

bulb in 5 second. What is the current through

the bulb ?

https://dl.doubtnut.com/l/_feKJXFMWhS9l
https://dl.doubtnut.com/l/_SYxCDXx7yItk


Additional Questions Answers Choose The

Correct Answer

Watch Video Solution

3. Calculate the curren and the resistance of a

100W, 200V electric bulb in an electric circuit.

Watch Video Solution

https://dl.doubtnut.com/l/_SYxCDXx7yItk
https://dl.doubtnut.com/l/_kbFbhLyt9i8X


1. A series circuit consists of three resistors

with values of 140, 250 and 220. The total

resistance is _________.

A. 330

B. 610

C. 720

D. None of above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_d6A1wr41uyDD


2. When will be the current flow in a circuit ?

A. A switch is closed

B. A switch is opened

C. Switch is either open or closed

D. None of above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_LuBR1XZlwF24


3. When one of three series resistors is

removed from a circuit and the circuit is

reconnected the current ___________.

A. increase by half

B. increases

C. decreases by half

D. None of above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_la36ML8oIxQF


4. The SI unit of power is __________.

A. joule

B. ampere

C. watt

D. ohm

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dYu0qQD5gp44


5. A parallel circuit consist of three resistors

with values of 430, 210, and 100. The total

resistance is __________.

A. 0.017 ohm

B. 58.82 ohm

C. 58.82 kilo ohm

D. None of above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2oYtiDVOlTuS


6. According to Ohm's law if voltage increase

and resistance stays the same and ___________.

A. Resistance decreases

B. Current increases

C. Current remains the same

D. Current decreases

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_rWIQhsrO331f
https://dl.doubtnut.com/l/_u728l3tmisFc


7. The amount of work done in joules when

one unit electric charges moves from one

point to another point in an electric circuit is

called ___________.

A. resistance

B. Potential difference

C. Current

D. Charge

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_u728l3tmisFc


8. the resistance of material depends on

_________.

A. Temperature

B. Length of conductor

C. Area of cross-section

D. All of above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_u728l3tmisFc
https://dl.doubtnut.com/l/_CSqzW1h0zb7G


9. The relation between potential difference

(V) and Current (I) is :___________.

A. 

B. 

C. 

D. None of above

Answer: D

Watch Video Solution

V ∝ I

V ∝ I 2

V ∝
I

1

https://dl.doubtnut.com/l/_tlMz8oSUfJ29
https://dl.doubtnut.com/l/_XOsEMIjeVYKI


10. The relation between potential difference

(V) and Current (I) was discovered by

:___________.

A. Volt

B. Ohm

C. Newton

D. Ampere

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XOsEMIjeVYKI
https://dl.doubtnut.com/l/_sRZ8sfMNIA8u


11. __________ of a material which oppose the

flow of current in a conductor.

A. Capacitor

B. Resistors

C. Fuse wire

D. Inductor

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_sRZ8sfMNIA8u


12. The resistance of a conductor directly

proportional to ____________.

A. Length

B. Area

C. Volt

D. Current

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7yoGTVGlJezU
https://dl.doubtnut.com/l/_XPVfA7ZwegLP


13. Which of the following laboratory

apparatus is used during the verification of

Ohm's law ?

A. Voltmeter

B. Ammeter

C. Rheostat

D. All of above

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_XPVfA7ZwegLP
https://dl.doubtnut.com/l/_KbL15EM2d6UZ


14. Kilowatt hour is the unit of

A. power

B. Potential difference

C. Force

D. Electrical energy

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KbL15EM2d6UZ


15. If resistance decreases, then current will

_____________.

A. increase

B. double

C. decrease

D. constant

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vBzMNUJcYCTw
https://dl.doubtnut.com/l/_zjRbkaCyWxXe


16. The resistance of a conductor is inversely

proportional to its_____________.

A. Volt

B. Length

C. Area

D. None of above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_zjRbkaCyWxXe


17. Why battery is used in the circuit ?

A. Measure current

B. Maintain a potential difference

C. Oppose the current

D. Measure potential

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DjSx509DGruS


18. Conductance is expressed in terms of

:_____________

A. mho

B. ohm/m

C. ohm

D. mho/m

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XOOGEcg8QbFu
https://dl.doubtnut.com/l/_KBD4LlIcOLCk


19. What happens when ammeter connected in

parallel ___________.

A. Open circuited

B. Closed circuited

C. Short circuited

D. None of above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KBD4LlIcOLCk


20. If two unequal resistors connected in

parallel then__________.

A. The voltage is same in both resistor

B. The current is same in both resistor

C. The voltage is larger in one of the

resistor

D. The current is large in one of the

resistor

Answer: A

https://dl.doubtnut.com/l/_7TvVgYHS8WoZ


Watch Video Solution

21. What does a switch do ?

A. Oppose the current

B. Open and close the circuit

C. Provide curent

D. Store the energy

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7TvVgYHS8WoZ
https://dl.doubtnut.com/l/_XMj3it9TJ4eG


22. If there are two bulbs i.e., 150W bulb and

60W bulb so which has more resistance ?

A. 60W

B. 150W

C. both a and b

D. None of above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_694u1QXBee4e
https://dl.doubtnut.com/l/_vg54o63YDmi4


23. If resistance of a wire is r ohms and wire is

streched to double its length, then what is its

resistance ?

A. r

B. 2r

C. 4r

D. r/2

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vg54o63YDmi4
https://dl.doubtnut.com/l/_8jEmmJMOYvsS


24. In parallel combination, resistance

decrease due to increase in ___________.

A. Area of cross section

B. Voltage

C. Length

D. Current

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8jEmmJMOYvsS


25. The device which easily closes or opens an

electric circuit is called as__________.

A. Switch

B. Cell

C. Key

D. Bulb

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_R0ck89IquxmN
https://dl.doubtnut.com/l/_2fm1RmIdmpzr


26. A small wire presents inside the bulb is

called __________.

A. Conductor

B. Filament

C. Insulator

D. None of above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2fm1RmIdmpzr


27. If one of the resistor in a parallel circuit is

removed, the total resistance will be___________.

A. Doubled

B. Decreases

C. Increases

D. constant

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_srkQAhZ7oyRj
https://dl.doubtnut.com/l/_LgtYJfBnlaRc


28. All good conductors have high __________.

A. Resistance

B. Specific resistance

C. Voltage

D. None of above

Answer: D

Watch Video Solution

29. A short circuit has___________.

https://dl.doubtnut.com/l/_LgtYJfBnlaRc
https://dl.doubtnut.com/l/_n6RjgJ0GzQTy


A. Non resistance

B. No conductance

C. Low current

D. None of above

Answer: D

Watch Video Solution

30. If the resistance in a series circuit double

total current will be____________.

https://dl.doubtnut.com/l/_n6RjgJ0GzQTy
https://dl.doubtnut.com/l/_BxpZd93IR6Sv


A. doubles

B. halved

C. same

D. Increases

Answer: B

Watch Video Solution

31. What happens to current and resistance if

the voltage is doubled?

https://dl.doubtnut.com/l/_BxpZd93IR6Sv
https://dl.doubtnut.com/l/_oydF6nP9xd4C


A. Current doubles and resistance doubles

B. Current doubles and resistance is halved

C. Current remains the same and

resistance doubles

D. Current doubles and resistance remains

the same

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_oydF6nP9xd4C


32. Which is considered to be the common

reference for a parallel circuit ?

A. Current

B. Resistance

C. Power

D. Voltage

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_z21ZUEcX5xdp
https://dl.doubtnut.com/l/_JSr2F6BiU1lN


33. Why are copper wires used as connecting

wires ?

A. Low resistivity

B. Low conductivity

C. High resistivity

D. Both A and B

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_JSr2F6BiU1lN


34. Direction of conventional current is from

:___________

A. Negative terminal to positive terminal

B. In both the directions

C. Positive terminal to negative terminal

D. None of above

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_YRyY8s3Fe9mW
https://dl.doubtnut.com/l/_SER78TQy0QNn


35. conductivity is the reciprocal of

A. opposite

B. reciprocal

C. equal

D. None of above

Answer: B

Watch Video Solution

36. A ampere is given as __________.

https://dl.doubtnut.com/l/_SER78TQy0QNn
https://dl.doubtnut.com/l/_t7mf6m7WHEsS


A. 

B. 

C. 

D. None of above

Answer: B

Watch Video Solution

1C × 1s

1C /1s

1s/1C

37. Which of the following relation is correct

for voltage, work done and charge ?

https://dl.doubtnut.com/l/_t7mf6m7WHEsS
https://dl.doubtnut.com/l/_l1zdlNezeOQf


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

V = W × Q

W = V × Q

V = Q/W

W = V /Q

38. A complete electric circuit is called as

__________

https://dl.doubtnut.com/l/_l1zdlNezeOQf
https://dl.doubtnut.com/l/_UzUsDvBFHsi5


A. open

B. short

C. closed

D. complete

Answer: C

Watch Video Solution

39. How many terminals an electric bulb

consists of ?

https://dl.doubtnut.com/l/_UzUsDvBFHsi5
https://dl.doubtnut.com/l/_wGJNkU1JGIRa


A. 2

B. 4

C. 3

D. 1

Answer: A

Watch Video Solution

40. Fuse wire has ___________.

A. low melting point

https://dl.doubtnut.com/l/_wGJNkU1JGIRa
https://dl.doubtnut.com/l/_jWKrtme6rzB1


B. high pressure

C. low resistance

D. both (a) and (b)

Answer: D

Watch Video Solution

41. Which of the following produces large

Joule heating effect ?

https://dl.doubtnut.com/l/_jWKrtme6rzB1
https://dl.doubtnut.com/l/_F4xHpMLPnEvi


A. 1A curren through  resistor for 3

seconds

B. 1A current through  resistor for 2

seconds

C. 2A current through  resistor for 2

seconds

D. 3A current through  resistor for 1

second

Answer: D

Watch Video Solution

2Ω

3Ω

1Ω

1Ω

https://dl.doubtnut.com/l/_F4xHpMLPnEvi


42. The heat produced in time is ___________.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H =
V

It

= H
t

V I

H = V It

H =
I

V t

https://dl.doubtnut.com/l/_F4xHpMLPnEvi
https://dl.doubtnut.com/l/_HUxygh0mS9Op
https://dl.doubtnut.com/l/_6FRpc6gkJTyx


43. The expression for the heat is ___________.

A. 

B. 

C. 

D. all of above

Answer: D

Watch Video Solution

H = V It

H = I 2Rt

H = t
V 2

R

https://dl.doubtnut.com/l/_6FRpc6gkJTyx


44. According to Joule's heating effects the law

of current is

A. 

B. 

C. 

D. both (b) and (c )

Answer: B

Watch Video Solution

1 ∝ H 2

H ∝ I 2

H ∝ I

https://dl.doubtnut.com/l/_x15PFXu4L9BC
https://dl.doubtnut.com/l/_94ERd3eF0jSt


45. Electric iron box and electric heater works

on the principle of

A. heating effect of current

B. heating effect of voltage

C. heating effect of power

D. heating effect of emf

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_94ERd3eF0jSt


46. A heating element used in the electric iron

box and the electric heater is ___________.

A. Tungsten

B. Nichrome

C. Lead

D. All of above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9VGcwOs8GMew
https://dl.doubtnut.com/l/_pdGDQr8rA4hB


47. In which one of the following heating

effect of current is undesirable ?

A. electric iron

B. electric motor

C. Fuse wire

D. electric bulb

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pdGDQr8rA4hB


48. Choose the correct statement.

A. Nichrome has two resistance and high

melting point

B. Fuse wire has high resistance and low

melting point

C. Nichrome has high resistance and low

melting point

D. Fuse wire has low resistance and high

melting point

https://dl.doubtnut.com/l/_RFQIe7b2THTv


Answer: B

Watch Video Solution

49. A 110 W, 220 V bulb draws a current

A. 2A

B. 440A

C. 0.5A

D. 5.5 A

Answer: C

https://dl.doubtnut.com/l/_RFQIe7b2THTv
https://dl.doubtnut.com/l/_1BUPDUTH0reJ


Watch Video Solution

50. The number of electrons in one coulomb of

charge is__________.

A. 

B. 

C. 

D. 

Answer: B

1.6 × 1019

6.25 × 1018

1.13 × 1011

8.85 × 1012

https://dl.doubtnut.com/l/_1BUPDUTH0reJ
https://dl.doubtnut.com/l/_9g1o3NhJ7SEv


Watch Video Solution

51. A complete electric circuit is called as

__________

A. open

B. closed

C. complete

D. None of above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9g1o3NhJ7SEv
https://dl.doubtnut.com/l/_I0IjGNe5tc88


52. The electric current in a closed circuit

always flows from the ___________ terminal of

the electric cell to __________ terminal.

A.  to 

B.  to 

C.  to 

D. none

Answer: B

View Text Solution

−ve +ve

+ve −ve

+ve +ve

https://dl.doubtnut.com/l/_I0IjGNe5tc88
https://dl.doubtnut.com/l/_EnPoG7FCRcBL


53. The motion of electric charges is called

________

A. electric resistance

B. electric voltage

C. electric power

D. electric current

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_EnPoG7FCRcBL
https://dl.doubtnut.com/l/_rOX5mEFn4p3D


54. The resistivity of chromium is____________.

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1.62 × 10− 8

6.84 × 10− 18

12.9 × 10− 8

2 × 10− 7

https://dl.doubtnut.com/l/_rOX5mEFn4p3D
https://dl.doubtnut.com/l/_p2cBNsqVW71n


55. Joule law of heating is ___________.

A. 

B. 

C. 

D. None of above

Answer: C

Watch Video Solution

H = IR2t

H = I 2t

H = I 2Rt

https://dl.doubtnut.com/l/_pB3BQp2Vvmn8


56. __________ is the material used to make the

filament in bulbs.

A. cadmium

B. tungsten

C. mercury

D. None of above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Luorwk78wm29
https://dl.doubtnut.com/l/_rfxvffPCL7nC


57. ___________ is a protective conductor which

saves us from electric shocks.

A. Electric appliance

B. Ammeter

C. Earth wire

D. Rheostat

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rfxvffPCL7nC


58. A ___________ bulb has no filament.

A. cadmium

B. LED

C. Fluroscent

D. None of above

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_QOh91tfWamd8


59. the first LED television was a __________

display.

A. dichromatic

B. monochromatic

C. colourless

D. trichromatic

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_e1WR4289wMgu
https://dl.doubtnut.com/l/_kvI6QpjxLeNB


60. ____________ introduced the first commercial

LED television in 2009.

A. Samsung

B. SONY

C. Panasonic

D. LG

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_kvI6QpjxLeNB


61. __________ is used to fix the magnitude of

current through a circuit.

A. resistor

B. voltmeter

C. electric resistance

D. ammeter

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1fMyfkDIjYKE
https://dl.doubtnut.com/l/_L2V8DqauUxfv


62. A galvanometer is used to indicate the

______________.

A. direction

B. frequency

C. voltage

D. reference point

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_L2V8DqauUxfv


63. A ___________ is used to measure the

potential difference.

A. Ammeter

B. Voltmeter

C. Rheostat

D. Galvanometer

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NsO5Qtt9UzRM


Additional Questions Answers Fill In The Blanks

1. Current passes from __________ potential to

the _________ potential.

View Text Solution

2. SI unit of current is ___________.

Watch Video Solution

https://dl.doubtnut.com/l/_EldOGh1ep0XQ
https://dl.doubtnut.com/l/_vfLmhttAUG12


3. The number of electrons in one coulomb of

charge is__________.

Watch Video Solution

4. The device used to measure electric current

is ___________.

Watch Video Solution

5. The purpose of a rheostat is ___________.

https://dl.doubtnut.com/l/_U1nirfbLQWm3
https://dl.doubtnut.com/l/_p0s1Z29x5GCf
https://dl.doubtnut.com/l/_Ti7wO8Cujlyk


Watch Video Solution

6. What is the direction of current ?

Watch Video Solution

7. Resistance is used to fix the magnitude of

___________.

Watch Video Solution

https://dl.doubtnut.com/l/_Ti7wO8Cujlyk
https://dl.doubtnut.com/l/_zMVfNYG6kjmi
https://dl.doubtnut.com/l/_pnwtjbULfMzc


8. The amount of work done to move charge

from one point to another is called ___________.

Watch Video Solution

9. Unit of electric potential is ____________.

Watch Video Solution

10. The hindrance presented by material of

conductor to the smooth passing of current is

https://dl.doubtnut.com/l/_98nLj6drhNRu
https://dl.doubtnut.com/l/_YTzK5CjHeA0X
https://dl.doubtnut.com/l/_7HrUv0K3RQEU


____________.

Watch Video Solution

11. Point to be kept in mind for verification of

ohm's law is ammeter should be connected in

__________ and voltmeter in ____________.

View Text Solution

12. When a 40 V battery is connected across an

unknown resistance, there is a current of 100

https://dl.doubtnut.com/l/_7HrUv0K3RQEU
https://dl.doubtnut.com/l/_tS2WNPfn973I
https://dl.doubtnut.com/l/_7WJfYcmF0VSU


mA in the circuit. The value of resistance is

___________.

Watch Video Solution

13. The resistance of a conductor directly

proportional to ____________.

Watch Video Solution

14. Nichrome is an alloy of ___________ and

Chromium.

https://dl.doubtnut.com/l/_7WJfYcmF0VSU
https://dl.doubtnut.com/l/_OnEujPdj6clQ
https://dl.doubtnut.com/l/_nQDb5brCh9ZO


Watch Video Solution

15. The graph between V and I is ___________ for

a conductor.

Watch Video Solution

16. __________ of a material which oppose the

flow of current in a conductor.

Watch Video Solution

https://dl.doubtnut.com/l/_nQDb5brCh9ZO
https://dl.doubtnut.com/l/_4TEWVFdhpnTw
https://dl.doubtnut.com/l/_sB8FgeM3LbaK
https://dl.doubtnut.com/l/_EnxjAsEoeMNS


17. Resistance is __________ for different

materials.

Watch Video Solution

18. When the current is doubled , the area of

cross section is ____________.

Watch Video Solution

https://dl.doubtnut.com/l/_EnxjAsEoeMNS
https://dl.doubtnut.com/l/_n6BxQkdF7tAB


19. When the length of the conductor is

doubled , the current becomes____________.

Watch Video Solution

20. A conductor with highest resistivity is used

in____________.

Watch Video Solution

21. The reciprocal of the reistance is _______

https://dl.doubtnut.com/l/_CpIgn5OFlKUY
https://dl.doubtnut.com/l/_hAldV9CN0CqX
https://dl.doubtnut.com/l/_FnYuDShyqnjU


Watch Video Solution

22. Resistivity is ___________ for a given material.

Watch Video Solution

23. The unit of specific resistance is ____________.

Watch Video Solution

https://dl.doubtnut.com/l/_FnYuDShyqnjU
https://dl.doubtnut.com/l/_uUwFs8moPSwX
https://dl.doubtnut.com/l/_LBmRp33HYADY


24. Conductivity is ___________ for conductors

than insulators.

Watch Video Solution

25. __________ is represented by Joule/coulomb.

Watch Video Solution

26. LED stands for__________.

Watch Video Solution

https://dl.doubtnut.com/l/_l79toDWGUzjB
https://dl.doubtnut.com/l/_4CZkXsduulSG
https://dl.doubtnut.com/l/_fbYZ28hZuEma


27. ___________ is used to select the magnitude

of current through a circuit.

Watch Video Solution

28. A voltmeter is used to measure the

_____________.

Watch Video Solution

https://dl.doubtnut.com/l/_fbYZ28hZuEma
https://dl.doubtnut.com/l/_I7NHogK8iftS
https://dl.doubtnut.com/l/_xH9w26ZsSr1M


29. Electric charges flows from a ___________

electric potential to a ____________ electric

potential.

View Text Solution

30. The SI unit of _____________ is ampere.

Watch Video Solution

https://dl.doubtnut.com/l/_1U030Vm8qn45
https://dl.doubtnut.com/l/_RBxkITrVtxlr


31. The motion of electric charges is called

________

Watch Video Solution

32. Electric current flows from the ___________

terminal of the battery to the ______________

terminal through a wire.

View Text Solution

https://dl.doubtnut.com/l/_VCvE37V1LwhJ
https://dl.doubtnut.com/l/_TrF1lPJU6D6e


33. ___________ comprises a battery, an electric

bulb and a switch.

Watch Video Solution

34. __________ is used to fix the magnitude of

current through a circuit.

Watch Video Solution

https://dl.doubtnut.com/l/_Ajd82Rmp9DHO
https://dl.doubtnut.com/l/_eAFe6pEs9UG8


35. __________ is used to provide protection to

the electrical components.

View Text Solution

36. __________ serves as a reference point to

measure the electric potential.

View Text Solution

https://dl.doubtnut.com/l/_ytSgsHVTXU6c
https://dl.doubtnut.com/l/_wHGkm79gedax


37. An __________ is a closed conducting loop or

path, which has a network of electrical

components through which electrons are able

to flow.

View Text Solution

38. The direction of current is taken opposite

to the direction of flow of______________.

View Text Solution

https://dl.doubtnut.com/l/_F2mMX1ULIwHy
https://dl.doubtnut.com/l/_J23rfTOkaig6
https://dl.doubtnut.com/l/_dmRteUbWYQ8d


39. Electric current passes in a circuit from the

____________ to _____________ terminal.

View Text Solution

40. A difference in electric potential is needed

for the flow of electric charges in a

______________.

View Text Solution

https://dl.doubtnut.com/l/_dmRteUbWYQ8d
https://dl.doubtnut.com/l/_JvRMfNh2k8zB


41. __________ gives the relation between the

potential difference and current.

Watch Video Solution

42. __________ is the property to oppose the

flow of charges.

Watch Video Solution

43. SI unit of resistance is

https://dl.doubtnut.com/l/_5WAUyTc3vOxB
https://dl.doubtnut.com/l/_p8FBR5X0kLaU
https://dl.doubtnut.com/l/_JLUq982YpYcq


Watch Video Solution

44. The reciprocal of conductivity is ________

Watch Video Solution

45. The unit of conductance is ____________.

Watch Video Solution

https://dl.doubtnut.com/l/_JLUq982YpYcq
https://dl.doubtnut.com/l/_JCBjujkpShpO
https://dl.doubtnut.com/l/_LMDNNRr9J7RU


46. Conductance is expressed in terms of

:_____________

Watch Video Solution

47. The unit of conductivity is _______

Watch Video Solution

48. The resistance of a conductor is inversely

proportional to its_____________.

https://dl.doubtnut.com/l/_E1c2E4vB7179
https://dl.doubtnut.com/l/_vA4ZWXpaba4a
https://dl.doubtnut.com/l/_TBH3Q1bDSx2Z


Watch Video Solution

49. ___________ is a conductor with highest

resistivity.

Watch Video Solution

50. Nichrome wire is used as the heating

element because it has

Watch Video Solution

https://dl.doubtnut.com/l/_TBH3Q1bDSx2Z
https://dl.doubtnut.com/l/_OIsJfGyDAFTG
https://dl.doubtnut.com/l/_2u0G5RnotX8q
https://dl.doubtnut.com/l/_9ZjursSm6Mkd


51. ___________ of a material is the property of

material to aid the flow of charges and hence,

the passage of current in it.

Watch Video Solution

52. The reciprocal of electrical resistivity of a

material is called its ___________.

Watch Video Solution

https://dl.doubtnut.com/l/_9ZjursSm6Mkd
https://dl.doubtnut.com/l/_jMsZt6FxOA7e


53. Conductivity is ___________ for conductors

than insulators.

Watch Video Solution

54. ___________ is less for conductors.

Watch Video Solution

55. The resistivity of copper is ______________.

View Text Solution

https://dl.doubtnut.com/l/_YWMUZnsrQ51u
https://dl.doubtnut.com/l/_qPHWeUU8MPwF
https://dl.doubtnut.com/l/_beiZxc7DDYf4


56. The resistivity of nickel is _____________.

View Text Solution

57. The resistivity of chromium is____________.

View Text Solution

58. The resistivity of glass is ___________.

View Text Solution

https://dl.doubtnut.com/l/_beiZxc7DDYf4
https://dl.doubtnut.com/l/_TD9chMilW4wn
https://dl.doubtnut.com/l/_mOXRUepHqC5Y
https://dl.doubtnut.com/l/_7bac3lWp37Lx


59. The resistivity of rubber is ___________.

View Text Solution

60. A circuit with the combination of resistors

is known as ____________.

Watch Video Solution

61. ___________ are commonly used in flashlights.

https://dl.doubtnut.com/l/_7bac3lWp37Lx
https://dl.doubtnut.com/l/_TVfBvOiaulOO
https://dl.doubtnut.com/l/_s6VPn47JIp0W
https://dl.doubtnut.com/l/_XFmkijwIvBVE


Watch Video Solution

62. A ____________ circuit has two or more loops

through which current can pass.

Watch Video Solution

63. The equivalent resistance of a _________

circuit, the others do not work.

View Text Solution

https://dl.doubtnut.com/l/_XFmkijwIvBVE
https://dl.doubtnut.com/l/_gX2Z9q3lZiaG
https://dl.doubtnut.com/l/_CvdAQuSA4Nkb
https://dl.doubtnut.com/l/_VnuttFaJDmdQ


64. If one appliance is disconnected in a

________________ circuit , the others do not work.

Watch Video Solution

65. If one appliance is disconnected in a

____________ circuit, others work independentely.

Watch Video Solution

https://dl.doubtnut.com/l/_VnuttFaJDmdQ
https://dl.doubtnut.com/l/_dsJblroOg23r


66. The wiring in a house consists of ________

circuit.

Watch Video Solution

67. Parallel resistors connected in series form a

___________ circuit.

Watch Video Solution

https://dl.doubtnut.com/l/_6kgoPWl2N1gZ
https://dl.doubtnut.com/l/_zUkwJTgDtDox


68. Series resistors connected in series from a

____________ circuit.

View Text Solution

69. The rate of flow of charges in a conductor

is ___________.

Watch Video Solution

https://dl.doubtnut.com/l/_cOZqSa8XiSUA
https://dl.doubtnut.com/l/_aKUnQmBjiN7m


70. __________ is a closed conducting path of

current.

View Text Solution

71. The device used to measure electric current

is ___________.

Watch Video Solution

https://dl.doubtnut.com/l/_003WgANUaFL6
https://dl.doubtnut.com/l/_22GvTMp98fEv


72. Can a galvanometer be used for measuring

the current? Explain.

Watch Video Solution

73. A ___________ is used to measure the

potential difference.

Watch Video Solution

https://dl.doubtnut.com/l/_rABzkO0zSr1G
https://dl.doubtnut.com/l/_r4dwIXKATtxy


74. The current flowing through the conductor

is ___________.

Watch Video Solution

75. _________ is used to select the magnitude of

the current through the circuit.

View Text Solution

https://dl.doubtnut.com/l/_6APwT4XGOfGJ
https://dl.doubtnut.com/l/_je6aTE5tFCKD


76. By convention, the direction of current is

opposite to the direction of ___________.

View Text Solution

77. The equivalent resistance in a _________

combination is less than the lowest of the

individual resistances.

Watch Video Solution

https://dl.doubtnut.com/l/_KZ5bm5S4zO7o
https://dl.doubtnut.com/l/_isAtGOAdAg0z


78. Nichrome is an alloy of ___________ and

Chromium.

Watch Video Solution

79. Electric bulb is made up a small wire called

the __________.

Watch Video Solution

https://dl.doubtnut.com/l/_wpyPQCYB76UL
https://dl.doubtnut.com/l/_ZPmroL4qbo7D


80. The melting point of the filament in an

electric bulb is _____________.

Watch Video Solution

81. Electrical energy can develop ___________

across a resistor.

View Text Solution

https://dl.doubtnut.com/l/_WAX7XQ78IaOR
https://dl.doubtnut.com/l/_3QNYqQzDmtiv


82. The passage of electric current through a

wire, results in the production of

Watch Video Solution

83. The heating effect of ____________ is used in

home appliances like electric heater, electric

iron etc.

Watch Video Solution

https://dl.doubtnut.com/l/_ZWqVmm9lZJEp
https://dl.doubtnut.com/l/_okZKpHPZvwvw


84. Heat produced in any resistor is directly

proportional to the square of the _____________

passing through the resistor.

Watch Video Solution

85. Heat produced in any resistor is directly

proportional to the resistance of the

____________.

View Text Solution

https://dl.doubtnut.com/l/_RB2oncXGpZY7
https://dl.doubtnut.com/l/_NyPTA4btzcVJ
https://dl.doubtnut.com/l/_LU4j7lJE1DWi


86. Conductivity is more for _____________.

Watch Video Solution

87. Conductance "G" of a conductor is

___________.

Watch Video Solution

88. ___________ has a very high melting point.

Watch Video Solution

https://dl.doubtnut.com/l/_LU4j7lJE1DWi
https://dl.doubtnut.com/l/_FJul1krHV79L
https://dl.doubtnut.com/l/_bvmdZBXXcZ5U


89. Electric power=___________.

Watch Video Solution

90. Electric power=___________.

Watch Video Solution

91. Nichrome has resisitivity equal to

___________.

https://dl.doubtnut.com/l/_bvmdZBXXcZ5U
https://dl.doubtnut.com/l/_fMaD21dNGX2k
https://dl.doubtnut.com/l/_7MfH9SMHUre3
https://dl.doubtnut.com/l/_yEhwiUUHGZmK


Watch Video Solution

92. Horse power = ______________.

Watch Video Solution

93. The larger unit of power is ___________.

Watch Video Solution

94. 1kWh = ________________

https://dl.doubtnut.com/l/_yEhwiUUHGZmK
https://dl.doubtnut.com/l/_qZdbsjzNWgN7
https://dl.doubtnut.com/l/_fYXe6w5qFwcn
https://dl.doubtnut.com/l/_jNZt8z8WtWLS


Watch Video Solution

95. Expansion of MCB is ____________.

Watch Video Solution

96. In domestic circuits, a third wire called the

____________ having a Green insulation.

Watch Video Solution

https://dl.doubtnut.com/l/_jNZt8z8WtWLS
https://dl.doubtnut.com/l/_Aw3Xg8PQmb0M
https://dl.doubtnut.com/l/_yIEL4Hxt9Xu7


97. When a live wire comes in contact with a

neutral wire, it causes a _____________.

Watch Video Solution

98. LED bulbs is a _________ device.

Watch Video Solution

99. ___________ is less for conductors.

Watch Video Solution

https://dl.doubtnut.com/l/_8Jlw1rmMum2G
https://dl.doubtnut.com/l/_gzgqXaRTQto0
https://dl.doubtnut.com/l/_m49kBG1cJr3z


100. Net effective resistance in series is given

by __________.

Watch Video Solution

101. Joule law of heating is ___________.

Watch Video Solution

https://dl.doubtnut.com/l/_m49kBG1cJr3z
https://dl.doubtnut.com/l/_xt0XhsGTwIc6
https://dl.doubtnut.com/l/_doPX1g4xc28g


102. Nichrome is an alloy of ___________ and

Chromium.

Watch Video Solution

103. When large current passes through the

circuit, the fuse wire melts due to ___________.

Watch Video Solution

104. Fuse wire has ___________.

https://dl.doubtnut.com/l/_KkbitQ0fX1CS
https://dl.doubtnut.com/l/_feRewjvmnm08
https://dl.doubtnut.com/l/_W8VQWW0r8Ij1


Watch Video Solution

105. The ____________ is connected in series in an

electric circuit.

Watch Video Solution

106. The fuse wire made up of a material

whose _________ is relatively low.

Watch Video Solution

https://dl.doubtnut.com/l/_W8VQWW0r8Ij1
https://dl.doubtnut.com/l/_98vVPNHnYcxi
https://dl.doubtnut.com/l/_F6IrpkZrh4La
https://dl.doubtnut.com/l/_FLQFwCuSZTSw


107. When large current passes through the

circuit, the fuse wire melts due to ___________.

Watch Video Solution

108. The fuse wire made up of a material

whose _________ is relatively low.

Watch Video Solution

https://dl.doubtnut.com/l/_FLQFwCuSZTSw
https://dl.doubtnut.com/l/_oFeeRTDCBJWt


109. The horse power (hp) is a unit in the

______________.

Watch Video Solution

110. When current passes through this wire,

_____________ is produced in the filament.

Watch Video Solution

https://dl.doubtnut.com/l/_WuIWkvXdFH1q
https://dl.doubtnut.com/l/_lVBpDSuAL9Eu


111. __________ is the material used to make the

filament in bulbs.

Watch Video Solution

112. ___________ is defined as the rate of doing

work or rate of spending energy.

Watch Video Solution

https://dl.doubtnut.com/l/_wQCMLgscc3qJ
https://dl.doubtnut.com/l/_JdEQMYlmk9km


113. ___________ is defined as the rate of

consumption of electrical energy.

Watch Video Solution

114. The power of an electric device is a

product of __________ and ___________.

Watch Video Solution

https://dl.doubtnut.com/l/_sGMWXJC2ZcUz
https://dl.doubtnut.com/l/_Myho0EKGJftY


115. Consumption of electrical energy is

measured and expressed in _____________.

Watch Video Solution

116. The SI unit of electrical energy is

_____________.

Watch Video Solution

117. Kilowatt hour is the unit of

https://dl.doubtnut.com/l/_b2GwsdLopK2g
https://dl.doubtnut.com/l/_aCQnfvkNlfwY
https://dl.doubtnut.com/l/_lg7lC887o0PS


Watch Video Solution

118. Which unit is used to measure electrical

energy ? (or) Define kilo watt hour.

Watch Video Solution

119. The ___________ in a domestic electric circuit

is called Live wire.

Watch Video Solution

https://dl.doubtnut.com/l/_lg7lC887o0PS
https://dl.doubtnut.com/l/_E07NGvFVPRSl
https://dl.doubtnut.com/l/_f9tTejRVgqZJ
https://dl.doubtnut.com/l/_1nHuzznCOHIt


120. The _______________ wire in a domestic

circuit is neutral wire.

Watch Video Solution

121. The electricity supplied to our house has

an electric potential of ___________V.

Watch Video Solution

https://dl.doubtnut.com/l/_1nHuzznCOHIt
https://dl.doubtnut.com/l/_k7uNmURm8dQw


122. Each appliance gets an equal voltage in a

____________ circuit.

Watch Video Solution

123. The wiring in a house consists of ________

circuit.

Watch Video Solution

https://dl.doubtnut.com/l/_HeAoD58UM6Dr
https://dl.doubtnut.com/l/_7XhfWNWNM8vT


124. With the help of the chemical compounds

like _______________ and ___________, the

manufacturer can produce LED bulbs that

radiate Red, Green , Yellow and Orange

colours.

View Text Solution

125. __________ Bulbs are used in traffic signals.

Watch Video Solution

https://dl.doubtnut.com/l/_nD9ld2kysD5g
https://dl.doubtnut.com/l/_068yLsjDLqIB
https://dl.doubtnut.com/l/_PW91rgWs4CIQ


126. When a live wire comes in contact with a

neutral wire, it causes a _____________.

Watch Video Solution

127. The __________ wire serves as a protective

conductor , which saves us from electric

shocks.

Watch Video Solution

https://dl.doubtnut.com/l/_PW91rgWs4CIQ
https://dl.doubtnut.com/l/_gFfW5sYRGGNH


128. In a conductor, the charges will flow from

______________ electric potential to __________

electric potential.

View Text Solution

129. The relation between current and

potential difference is given by

Watch Video Solution

https://dl.doubtnut.com/l/_slY7OJN5a5BJ
https://dl.doubtnut.com/l/_Xyr37NgV5N13


130. The formula for Ohm's law is _____________.

Watch Video Solution

131. __________ is the property to oppose the

flow of charges.

Watch Video Solution

132. Resistance is __________ for different

materials.

https://dl.doubtnut.com/l/_LcuVRGGy1l2U
https://dl.doubtnut.com/l/_RbfrsO2Mapb1
https://dl.doubtnut.com/l/_LfLDJSxTSGpG


Watch Video Solution

133. __________ gives the relation between the

potential difference and current.

Watch Video Solution

134. ____________ is otherwise known as specific

resistance.

Watch Video Solution

https://dl.doubtnut.com/l/_LfLDJSxTSGpG
https://dl.doubtnut.com/l/_UttqQFzkCOf4
https://dl.doubtnut.com/l/_1AqUqZ4QiKjW
https://dl.doubtnut.com/l/_ZXi3Slsfybly


Additional Questions Answers State Whether

The Following Statements Are True Or False

Correct The Statement If It False

135. ___________ of a conductor is a measure of

resisting power of a specific material.

Watch Video Solution

1. Resistance of the wire is inversely

proportional to length of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_ZXi3Slsfybly
https://dl.doubtnut.com/l/_WfLXlInOoF3U


2. A thin wire has less resistance than the thick

wire of same length and same material

Watch Video Solution

3. What connection is used in domestic

appliances and why ?

Watch Video Solution

https://dl.doubtnut.com/l/_WfLXlInOoF3U
https://dl.doubtnut.com/l/_15uyiMv05r79
https://dl.doubtnut.com/l/_ok8AhQiFjC5R


4. Conductance is the property of the material

to oppose the flow of charges

View Text Solution

5. The unit of electric potential is ohm

View Text Solution

6. One micro ampere is equal to .

View Text Solution

10− 3A

https://dl.doubtnut.com/l/_tONaftI78vtC
https://dl.doubtnut.com/l/_YDMoiniXhhV5
https://dl.doubtnut.com/l/_h4UA5TGrrOik


7. The potential difference required for the

flow of charges is provided by the voltmeter.

View Text Solution

8. Nichrome is an alloy of lead and chromium.

View Text Solution

https://dl.doubtnut.com/l/_h4UA5TGrrOik
https://dl.doubtnut.com/l/_Myl7SSw7P8jm
https://dl.doubtnut.com/l/_nhfoTs52ybta


Additional Questions Answers Match The

Following

9. George Simon Ohm invented

electrochemical cell

View Text Solution

10. Telsa invented lightning conductor.

Watch Video Solution

https://dl.doubtnut.com/l/_eIM3GbUYIMZs
https://dl.doubtnut.com/l/_4D3yJfCsVJuM
https://dl.doubtnut.com/l/_ll5g8i8hlBSb


1. 

View Text Solution

2. 

View Text Solution

3. 

View Text Solution

https://dl.doubtnut.com/l/_ll5g8i8hlBSb
https://dl.doubtnut.com/l/_SRGYhnK095TH
https://dl.doubtnut.com/l/_cPPrW5bjWPrP
https://dl.doubtnut.com/l/_ncgBdaCOdRdX


4. 

View Text Solution

5. 

View Text Solution

6. 

View Text Solution

https://dl.doubtnut.com/l/_ncgBdaCOdRdX
https://dl.doubtnut.com/l/_MR6iXU5OP6rC
https://dl.doubtnut.com/l/_quznkfzoT03r
https://dl.doubtnut.com/l/_5lbNToisOcRR


7. 

View Text Solution

8. 

View Text Solution

9. 

View Text Solution

https://dl.doubtnut.com/l/_5lbNToisOcRR
https://dl.doubtnut.com/l/_4dgpF0244fip
https://dl.doubtnut.com/l/_EyLfry9rk80m
https://dl.doubtnut.com/l/_43djLCE5QSAN


Additional Questions Answres Assertion And

Reason

10. 

View Text Solution

1. Assertion: The kinetic energy of the

electrons increases when temperature of the

wire increases. 

Reason: An increasing temeperature

conductivity of metallic wird decreases.

https://dl.doubtnut.com/l/_43djLCE5QSAN
https://dl.doubtnut.com/l/_cBarZuTRkThd


A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

https://dl.doubtnut.com/l/_cBarZuTRkThd


Answer:

Watch Video Solution

2. Assertion: In a simple battery circuit the

point of highest potential is positive terminal

of the battery. 

Reason: The current flows towars the point of

the highest potential.

A. if both the assertion and the reason are

true and the reason is the correct

https://dl.doubtnut.com/l/_cBarZuTRkThd
https://dl.doubtnut.com/l/_yZWPNSNqBAy9


explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yZWPNSNqBAy9


3. Assertion: Bending a wire does not affect

electrical resistance. 

Reason: resistance of wire is proportional to

resistivity of material.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

https://dl.doubtnut.com/l/_yZWPNSNqBAy9
https://dl.doubtnut.com/l/_h6Yqa7lmFVFv


explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_h6Yqa7lmFVFv


4. Asserion: Current is a scalar quantity. 

Reason: Current is due to continuous flow of

charges.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

https://dl.doubtnut.com/l/_TEBvvvXORZzj


C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

Watch Video Solution

5. Assertion: Ammeter is always connected in

series whereas a voltmeter is connected in

parallel. 

https://dl.doubtnut.com/l/_TEBvvvXORZzj
https://dl.doubtnut.com/l/_nnq0pu13biLC


Reason: An ammeter has a low resistance

while voltmeter has high resistance.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

https://dl.doubtnut.com/l/_nnq0pu13biLC


D. if assertion is false, but the reason is

true.

Answer:

Watch Video Solution

6. Assertion: When a wire is not connected to

battery, no current flows. 

Reason: Charge does not flow in particular

direction.

https://dl.doubtnut.com/l/_nnq0pu13biLC
https://dl.doubtnut.com/l/_UphQGL7vyQkP


A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

https://dl.doubtnut.com/l/_UphQGL7vyQkP


Answer:

View Text Solution

7. Assertion: A voltmeter must be connected in

parallel and should have a high resistance. 

Reason: The introduction of the voltmeter in

the circuit must not affect the potential

difference.

A. if both the assertion and the reason are

true and the reason is the correct

https://dl.doubtnut.com/l/_UphQGL7vyQkP
https://dl.doubtnut.com/l/_vDibL6dnphTt


explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

View Text Solution

https://dl.doubtnut.com/l/_vDibL6dnphTt


8. Asserion: In parallel combination of

electrical appliances, the total power

consumption is equal to the sum of powers of

the individual appliances. 

Reason: Charges move from higher potential

to lower potential.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

https://dl.doubtnut.com/l/_vDibL6dnphTt
https://dl.doubtnut.com/l/_kmJKIuOAoWpY


B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

View Text Solution

https://dl.doubtnut.com/l/_kmJKIuOAoWpY
https://dl.doubtnut.com/l/_IkD29xMCwoOp


9. Assertion: In a series combination of electric

bulbs, the bulb of 30 watts emits more light

than that of lower bulbs. 

Reason: The 30W bulb in series gets more

current than low power bulbs.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

https://dl.doubtnut.com/l/_IkD29xMCwoOp


explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_IkD29xMCwoOp


10. Assertion: Two resistors connected in

series, the total resistance is greater than the

highest of the individual resistance. 

Reason: In series connection current in each

resistor is same.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

https://dl.doubtnut.com/l/_HhoDaemVTU8o


explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

View Text Solution

https://dl.doubtnut.com/l/_HhoDaemVTU8o


11. Assertion: LED bulb is a semi-conductor

device that emits visible light when an electric

current passes through it. 

Reason: LED television is one of the most

important applications of light emitting

diodes.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

https://dl.doubtnut.com/l/_xgckHREkmC4Z


B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xgckHREkmC4Z
https://dl.doubtnut.com/l/_thnjKQSI9JvP


12. Assertion: The effective resistance in a

parallel combination is less than the series. 

Reason: The potential difference across each

resistance is same.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

https://dl.doubtnut.com/l/_thnjKQSI9JvP


C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

View Text Solution

13. Assertion: In series, one appliance is

disconnected others also do not work. 

Reason: Current cannot pass in this case.

https://dl.doubtnut.com/l/_thnjKQSI9JvP
https://dl.doubtnut.com/l/_DhiLQPHvbDLk


A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

https://dl.doubtnut.com/l/_DhiLQPHvbDLk


Answer:

Watch Video Solution

14. Assertion: Overloading happens when a

large no. of appliances are connected in series.

Reason: All the electric points are connected

in parallel in the domestic circuit.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

https://dl.doubtnut.com/l/_DhiLQPHvbDLk
https://dl.doubtnut.com/l/_nW7XIFAdMgWd


B. if both the assertion and the reason are

true , but the reason is not the correct

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_nW7XIFAdMgWd
https://dl.doubtnut.com/l/_gSC9tISYvxap


15. Assertion: When a large current passes

through the circuit, the fuse wire melts due to

Joules heating effect. 

Reason: Fuse wire has low melting point and

high resistance.

A. if both the assertion and the reason are

true and the reason is the correct

explanation of the assertion.

B. if both the assertion and the reason are

true , but the reason is not the correct

https://dl.doubtnut.com/l/_gSC9tISYvxap


Additional Questions Answres Use The Analogy

To Fill In The Blank

explanation of the assertion.

C. if the assertion is true, but Reason is

false.

D. if assertion is false, but the reason is

true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gSC9tISYvxap


1. AC: reverses direction :: DC : __________.

Watch Video Solution

2. Conductivity : degree of conductance ::

______________ : measure of resisting power.

Watch Video Solution

3. The unit of conductivity is _______

Watch Video Solution

https://dl.doubtnut.com/l/_fDHluXyfLd7I
https://dl.doubtnut.com/l/_JRh7mgoWSuf3
https://dl.doubtnut.com/l/_s7w4jg9j29rU


4. Less resistivity : Conductor :: High resistivity:

____________

Watch Video Solution

5.  :  : :____________

Watch Video Solution

RP

R

n
Rs

6. series: high resistance : parallel : ___________

https://dl.doubtnut.com/l/_s7w4jg9j29rU
https://dl.doubtnut.com/l/_BgyREi8zkB9V
https://dl.doubtnut.com/l/_9pHMHXs0VrL4
https://dl.doubtnut.com/l/_NJoTvw9CSkjY


View Text Solution

7. __________ is the material used to make the

filament in bulbs.

Watch Video Solution

8. Electric power: hp :: Electric energy

:__________

Watch Video Solution

https://dl.doubtnut.com/l/_NJoTvw9CSkjY
https://dl.doubtnut.com/l/_BETVRVin9bdj
https://dl.doubtnut.com/l/_u6jNb7Nl00fR
https://dl.doubtnut.com/l/_Qgv8hOOwfGvF


9. Overloading : excess current ::

____________:contact of wires.

Watch Video Solution

10. MCB : ____________ : earthing :: connecting to

ground

Watch Video Solution

https://dl.doubtnut.com/l/_Qgv8hOOwfGvF
https://dl.doubtnut.com/l/_MLVhwDIyRTDd


11. Electric oven : Nichrome :: bulb :

_____________.

View Text Solution

12. Ammeter : series :: voltmeter : ____________.

Watch Video Solution

13. Resistor : fix the magnitude or current :

______________ : select the magnitude of current.

https://dl.doubtnut.com/l/_qzDC1ZiQcPL8
https://dl.doubtnut.com/l/_TajwHGJ0NWOa
https://dl.doubtnut.com/l/_4zZexVmXmCm3


View Text Solution

14. Voltmeter : potential difference ::

_____________ : direction of current.

View Text Solution

15. Series connection of resistanc : effective

resistance is more :: Parallel connection of

resistance : ____________

Watch Video Solution

https://dl.doubtnut.com/l/_4zZexVmXmCm3
https://dl.doubtnut.com/l/_01t8z4IOYzXF
https://dl.doubtnut.com/l/_lebAaQWhkoHF


16. Ohm's law : resistance :: Joule's law :

_______________

View Text Solution

17. : Resistor ::  : ____________.

View Text Solution

18. Ampere : electric current :: __________ : volt

https://dl.doubtnut.com/l/_lebAaQWhkoHF
https://dl.doubtnut.com/l/_UCHROIWCyrww
https://dl.doubtnut.com/l/_NS2M5wA9zNPM
https://dl.doubtnut.com/l/_AhzP5tsYUvUa


View Text Solution

19. Heating element : ___________ : Fuse wire :

lead and tin.

Watch Video Solution

20. VI : P :: V: ____________

Watch Video Solution

https://dl.doubtnut.com/l/_AhzP5tsYUvUa
https://dl.doubtnut.com/l/_2FgCDJkMEMj2
https://dl.doubtnut.com/l/_UVUsOWZqx4DC


21. Voltage  charge : ______________::Current

 time: charge

Watch Video Solution

×

×

22. Electric current :ampere ::electrical

potential:_________

Watch Video Solution

https://dl.doubtnut.com/l/_OpvhUfKi3kei
https://dl.doubtnut.com/l/_cQfmmkXljG6R


Additional Questions Answres Arrange The

Following In A Correct Order

23. Less resistivity : Conductor :: High

resistivity: ____________

Watch Video Solution

24. Fuse wire : Low melting point :: Tungsten :

___________

Watch Video Solution

https://dl.doubtnut.com/l/_5WzunyFtM09F
https://dl.doubtnut.com/l/_odAtv7oh82LX


1. Arrange the words in a correct order of

functioning. 

Load(bulb) , Wire , and battery , Voltage

View Text Solution

2. Arrange the materials according to their

resistivity. 

Chromium, Copper , Nickel, Glass

Watch Video Solution

https://dl.doubtnut.com/l/_QlqYoT0uXcpX
https://dl.doubtnut.com/l/_UK6MPBcjtgNi


Additional Questions Answres Answer In One

Word

1. What is electricity ?

Watch Video Solution

2. How many electrons are in 1C of charge ?

Watch Video Solution

3. Which material has high Resistivity ?

https://dl.doubtnut.com/l/_0XnEdjiBk8hl
https://dl.doubtnut.com/l/_t7noXEhfPcO5
https://dl.doubtnut.com/l/_kVfNeZfzcPOo


Watch Video Solution

4. The larger unit of power is ___________.

Watch Video Solution

5. Define electric energy its commerical units.

Watch Video Solution

6. What is the abbreviations for LED, & LCD ?

https://dl.doubtnut.com/l/_kVfNeZfzcPOo
https://dl.doubtnut.com/l/_gfq5t0mSbw35
https://dl.doubtnut.com/l/_aQxtRYVIrenw
https://dl.doubtnut.com/l/_U2gXIVUvGrtI


Watch Video Solution

7. What is Seven Segment Display ?

Watch Video Solution

8. Horse power = ______________.

Watch Video Solution

9. What is one unit ?

https://dl.doubtnut.com/l/_U2gXIVUvGrtI
https://dl.doubtnut.com/l/_SAhOQX7FpAXP
https://dl.doubtnut.com/l/_80G3j3bjQsBi
https://dl.doubtnut.com/l/_ffiJWdGjLxgU


Watch Video Solution

10. The number of electrons in one coulomb of

charge is__________.

Watch Video Solution

11. Give the charge of an electron.

Watch Video Solution

https://dl.doubtnut.com/l/_ffiJWdGjLxgU
https://dl.doubtnut.com/l/_bXPzec9SdZio
https://dl.doubtnut.com/l/_5WGSqrkXb6ib


12. Full form of 'CNS'

Watch Video Solution

13. What does AC and DC mean ?

Watch Video Solution

14. What is lightning ?

Watch Video Solution

https://dl.doubtnut.com/l/_Ufmc9J6crMuh
https://dl.doubtnut.com/l/_rxrszUDMmNdy
https://dl.doubtnut.com/l/_7BIAqALJ6WDf


Additional Questions Answres Very Short

Answers

15. What are the advantages of LED TV over

the normal TV ?

Watch Video Solution

16. Is LED bulb harmful to the environment ?

Watch Video Solution

https://dl.doubtnut.com/l/_r7rbjTX4nSdV
https://dl.doubtnut.com/l/_oiTeAIZ0mIM4
https://dl.doubtnut.com/l/_hkFdO4739aHy


1. What is electric circuit ?

Watch Video Solution

2. What is the difference between open &

closed circuit ? Draw daigrams for both.

Watch Video Solution

3. What is the direction of current ?

Watch Video Solution

https://dl.doubtnut.com/l/_hkFdO4739aHy
https://dl.doubtnut.com/l/_HAibruxJw2sH
https://dl.doubtnut.com/l/_ZH8rMuE5BfQ7


4. What is the use of Ground connection ?

Watch Video Solution

5. Write the definition of volt.

Watch Video Solution

6. Draw a V- I graph.

View Text Solution

https://dl.doubtnut.com/l/_ZjvugBwl8Wp3
https://dl.doubtnut.com/l/_eFt6RuhEzQho
https://dl.doubtnut.com/l/_OC1zykGbrdav


7. Define resistance.

Watch Video Solution

8. SI unit of resistance is

Watch Video Solution

9. Electric power=___________.

Watch Video Solution

https://dl.doubtnut.com/l/_7paBOberwBSB
https://dl.doubtnut.com/l/_MtqJLbtmlsKD
https://dl.doubtnut.com/l/_2uPI8yFItbg5


10. The SI of electric power is _____________.

Watch Video Solution

11. What are two factors the consmption of

electricity/ electrical energy based on ?

Watch Video Solution

12. What is the larger unit of electrical energy

? Represent it in terms of the larger unit.

https://dl.doubtnut.com/l/_gcGTNYBNeTa5
https://dl.doubtnut.com/l/_Lbc92MqcYpGG
https://dl.doubtnut.com/l/_6ySOg6bIXd2r


Watch Video Solution

13. What is lightning ?

Watch Video Solution

14. LED stands for__________.

Watch Video Solution

15. Write the uses of LEDs.

https://dl.doubtnut.com/l/_6ySOg6bIXd2r
https://dl.doubtnut.com/l/_gUBWOhYGuGur
https://dl.doubtnut.com/l/_c42ckDKqe8O2
https://dl.doubtnut.com/l/_upJYfGZgMIu9


Watch Video Solution

16. What is Seven Segment Display ?

Watch Video Solution

17. What is meant by Heating effect of electric

current ?

Watch Video Solution

https://dl.doubtnut.com/l/_upJYfGZgMIu9
https://dl.doubtnut.com/l/_3sJ8yzdIeBN5
https://dl.doubtnut.com/l/_OR4zNBzfrche


18. Fuse wire

Watch Video Solution

19. What happen to the other bulbs in a series

circuit if one bulb stops functioning?

Watch Video Solution

20. What is the difference between open &

closed circuit ? Draw daigrams for both.

https://dl.doubtnut.com/l/_nurAb7fstbhX
https://dl.doubtnut.com/l/_KBamGkdCdzEU
https://dl.doubtnut.com/l/_RoScdWcL50JK


Watch Video Solution

21. Why are copper wires used as connecting

wires ?

Watch Video Solution

22. Write the difference between ammeter and

voltmeter.

Watch Video Solution

https://dl.doubtnut.com/l/_RoScdWcL50JK
https://dl.doubtnut.com/l/_jJ6IuOkcTqLK
https://dl.doubtnut.com/l/_OqI9jCOpcWmJ
https://dl.doubtnut.com/l/_MztUdmVtIZzi


23. Write the difference between conductor

and insulator.

Watch Video Solution

24. Out of 100W and 40W bulbs, which has

high electrical resistance when it use.

Watch Video Solution

https://dl.doubtnut.com/l/_MztUdmVtIZzi
https://dl.doubtnut.com/l/_7caWrIkefcam


Additional Questions Answres Short Answers

25. Draw a closed circuit diagram consisting of

resistor, ammeter, voltmeter,cell and a point

key.

Watch Video Solution

26. Should the resistance of an ammeter be

low or high ? Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_VNTujKntCXtQ
https://dl.doubtnut.com/l/_LslyEPgSaphs


1. Why the resistance of the conductor

increases with rise in temperature.

Watch Video Solution

2. What happens to resistance of the

conductor when length is doubled

Watch Video Solution

https://dl.doubtnut.com/l/_oOKs6oxgYabX
https://dl.doubtnut.com/l/_SZPaoSeLhh2s


3. What happens to resistance of the

conductor when area of cross section

increases

Watch Video Solution

4. Write the difference between electric energy

and electric power.

Watch Video Solution

https://dl.doubtnut.com/l/_v6MUqmKecsYR
https://dl.doubtnut.com/l/_aFk1vSwQ9Ghg


5. Write electrical use of the components in

electrical circuit.
 Resistor,Rheostat,Ammeter

and Voltmeter

Watch Video Solution

6. Define parallel & series connection.

Watch Video Solution

https://dl.doubtnut.com/l/_Zez9E8ggVxSV
https://dl.doubtnut.com/l/_FL2X3JkLZes6


7. Find the total resistance of parallel

connection of series resistors.

View Text Solution

8. Joule law of heating is ___________.

Watch Video Solution

9. How does a parallel circuit differ from a

series circuit?

https://dl.doubtnut.com/l/_LmAByUbkwPAp
https://dl.doubtnut.com/l/_wVAhyIa3UBgX
https://dl.doubtnut.com/l/_bLJJVDcwvmws


Watch Video Solution

10. Write about LED television.

Watch Video Solution

11. Expansion of MCB is ____________.

Watch Video Solution

https://dl.doubtnut.com/l/_bLJJVDcwvmws
https://dl.doubtnut.com/l/_e3zNP3wICMAJ
https://dl.doubtnut.com/l/_GjhIuzjuZJxs


12. Does the current in the circuit change

when the length or area of cross section or

the material of the conductor is changed ?

View Text Solution

13. What is meant by overloading and short

circuit ?

Watch Video Solution

https://dl.doubtnut.com/l/_9PmIrHVxWI1z
https://dl.doubtnut.com/l/_ZvXV8w802yXi


Additional Questions Answres Long Answers

14. How to reduce damages due to lightning ?

Watch Video Solution

1. Water boils in an electric kettle in 15 mins,

after switching on. If the length of the heating

wire is decreased to  of its initial value ,then

in how much time will the same amount of

water boil with the same supplyvoltage ?

1

3

https://dl.doubtnut.com/l/_LuUaUsUe5rp9
https://dl.doubtnut.com/l/_Naow7LgCurSZ


Watch Video Solution

2. Find the effective resistance of series

connection of parallel resistors.

Watch Video Solution

3. Write any five electrical components used in

electrical circuit and draw its symbol.

Watch Video Solution

https://dl.doubtnut.com/l/_Naow7LgCurSZ
https://dl.doubtnut.com/l/_yXPtncX8CzkD
https://dl.doubtnut.com/l/_HaTr4m52LmVg


Additional Questions Answres Numerical

Problems

1. 100 W bulb draws 680 mA current. How

much time will be required to pass 30 C of

charge through the bulb ?

Watch Video Solution

2. A current of 6A flows through metal wire.

How many coulombs of charge pass through

the wire in 2 minutes ?

https://dl.doubtnut.com/l/_koyrMhpve9P7
https://dl.doubtnut.com/l/_8Upp5b6oYX5p


Watch Video Solution

3. The amount of work done to move 20C

charge from one point to another is 220 J.

What is the potential difference between

these two points ?

Watch Video Solution

4. The potential difference between two

conductor is 110 V. How much work in moving

https://dl.doubtnut.com/l/_8Upp5b6oYX5p
https://dl.doubtnut.com/l/_JI3zKF9vPpDn
https://dl.doubtnut.com/l/_EmX3ZL3WFsms


5 C charge from one conductor to the other ?

Watch Video Solution

5. An electric heater works for 30 min at 120V

and takes energy of 1.2 kWh. What is the

current drawn by the heater ?

Watch Video Solution

6. What is the resistance of heating element of

the heater when 20 A current passing through

https://dl.doubtnut.com/l/_EmX3ZL3WFsms
https://dl.doubtnut.com/l/_Xb80b4HyiIDH
https://dl.doubtnut.com/l/_LLY2ozflP9gj


it at a potential of 220 V ?

Watch Video Solution

7. A 110 V light bulb takes 0.9 A current and

operates 12h/day. Determine the energy

consumed by the bulb for 30 days.

Watch Video Solution

8. Calculate the energy consumed by 120 W

toaster in 20 min.

https://dl.doubtnut.com/l/_LLY2ozflP9gj
https://dl.doubtnut.com/l/_A3E7fvpYWsrm
https://dl.doubtnut.com/l/_SkeUbXrdK010


Additional Questions Answres Higher Order

Thinkng Skills Hots

Watch Video Solution

1. Which options show the correct direction of

current ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_SkeUbXrdK010
https://dl.doubtnut.com/l/_vjqNJ6Ts1GKI


D. 

Answer:

View Text Solution

2. Choose the correct statement.

A. A switch is the source of electric current

in a circuit.

B. A switch help to complete or break the

circuit.

https://dl.doubtnut.com/l/_vjqNJ6Ts1GKI
https://dl.doubtnut.com/l/_a5I3tGCWZCOa


C. A switch help us to use electricity as per

requirement.

D. When the switch is open there is an air

gap between the terminals.

Answer: B

Watch Video Solution

3. In the following arrangement, the bulb will

glow if the ends A & B are connected with 

https://dl.doubtnut.com/l/_a5I3tGCWZCOa
https://dl.doubtnut.com/l/_5pSh0z2RuhwS


A. steel spoon

B. metal clip

C. plastic clip

D. copper wire

Answer: C

View Text Solution

4. The electrical resistivity of few materials is

given below ohm-meter.  

https://dl.doubtnut.com/l/_5pSh0z2RuhwS
https://dl.doubtnut.com/l/_eYCJj4BVXSRY


Which of these materials can be used for

making elements of heating device ?

View Text Solution

5. Electrical resistivities of some substances at

 are given below: 


 

Answer the following questions in relation to

them: 

(i) Among silver and copper , which one is a

better conductor ? Why ? 

20∘ C

https://dl.doubtnut.com/l/_eYCJj4BVXSRY
https://dl.doubtnut.com/l/_jr57bWxa62w7


(ii) Which material would you advice to be

used in electrical heating devices ? Why ?

View Text Solution

6. The following table gives the resistivity of

three samples : 

 

Which of them is suitable for heating

elements of electrical appliances and why ?

View Text Solution

https://dl.doubtnut.com/l/_jr57bWxa62w7
https://dl.doubtnut.com/l/_I0CFOTaxESDa
https://dl.doubtnut.com/l/_A5oxxnVrlxCw


7. Two electric current I and II are shown in

figure.  

 

Which of the two circuits has more resistance

?

View Text Solution

8. Two electric current I and II are shown in

figure.  

 

Through which circuit, more current passes ?

https://dl.doubtnut.com/l/_A5oxxnVrlxCw
https://dl.doubtnut.com/l/_Qq228dXJ28u5


View Text Solution

9. Two electric current I and II are shown in

figure.  

 

In which circuit, the potential difference across

each resistor is equal.

View Text Solution

https://dl.doubtnut.com/l/_Qq228dXJ28u5
https://dl.doubtnut.com/l/_GoLUPgoNAALB


10. Following table gives the resistivity of

three samples in (  m) 

 

Which of them is a good conductor ? And

which of them is an insulation ? Explain why ?

View Text Solution

Ω

11. The electric power consumed by a device

may be calculated by using either of the two

expressions :  . TheP = I 2RorP = V 2 /R

https://dl.doubtnut.com/l/_VPIMl4VDWh19
https://dl.doubtnut.com/l/_YGlSpO7UfIFy


first expression indicates that the power is

directly proportional to R, whereas the second

expression indicates inverse proportionally.

How can the seemingly different dependence

of P or R in these expression be explained ?

Watch Video Solution

12. The resistivities of some substances are

given below : 

 

https://dl.doubtnut.com/l/_YGlSpO7UfIFy
https://dl.doubtnut.com/l/_FDXT3xniC72O


(i) Which material is best for making

connecting cords ?

View Text Solution

13. The resistivities of some substances are

given below : 

 

Which material do you suggest to be used in

heater elements ?

View Text Solution

https://dl.doubtnut.com/l/_FDXT3xniC72O
https://dl.doubtnut.com/l/_WBh8W91KU2uN
https://dl.doubtnut.com/l/_039tOGXM6tJV


14. The resistivities of some substances are

given below : 

 

You have two wires of same length and same

thickness. One is made of material A and other

of material D. If the resistancce wire made of A

is , what is the resistance of the other wire

?

View Text Solution

2Ω

https://dl.doubtnut.com/l/_039tOGXM6tJV


Additional Questions Answres Value Based

Question

1. Kalaivani was watching at a metal pipe, one

end of which is connected to a tank at the top

of her building and the other end to the tap,

which is near the ground level. She was

admiring how the water flows from top to the

bottom through the pipe. She went and asked

her mother, who was an engineer. 

(i) Also Kalaivani asked her mother that can

she able to compare this with any other

https://dl.doubtnut.com/l/_T1Ry5TluXcak


scientific concepts ? 

(ii) How would her mother have compared the

resistance in a water pipe as well as in a

conductor. 

(iii) Give the expression for resistors

connected in series and parallel.

View Text Solution

https://dl.doubtnut.com/l/_T1Ry5TluXcak

